MA 161M EXAM 1 Sept. 20, 2002

Name / C@‘//

Note: If work is not shown, no credit will be given. NO CALCULATORS.

(10 pts) 1) Find an equation of the line perpendicular to 2z +y + 3 = 0 and passing through the
~ point (—1,1).
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(10 pts) 2) Sketch the graph of y = 2 — 2z + 2 without plotting points. State the steps you used
to get your graph from the graph of a simple function.
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(7 pts) 3) (a) Find a formula for the inverse of the function
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(3 pts) (b) What'is the domain of the inverse function?
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(10 pts) 4) Let
z+c if £ <3
f(x)g{csc2—2 ifz>3

For what value of ¢, if any, is the function contmuous at ¢ = 37 Why?
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5) Find the following limits or show that they do not exist.
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NOTE: IN PROBLEMS 6 AND 7 YOU CANNOT USE THE DIFFERENTIATION
RULES OF CHAP. 3.

(10 pts) 6) Find the slope of the tangent line to the graph of

1
Tx+1

y= T # —1

at the point with z coordinate = 2.
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7) Let f(x)=v2+=
(5 pts) (a) What is the domain of f? ~
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(15 pts) 8) Show that the equation z° —2z?+1 = 0 has at least one negative root. What theorem
justifies your conclusion?
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